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®1 TBHRIERBHER

MARE > HABH BHERE

.1992)

Input
Variables

F= 1000 - 1010 M~ 3/hr
SINN= 300 - 320 ppm BODS
SSIN= 200 ppm SS

SNH4IN= 100 ppm NH4

Model
Parameters

Primary Clarifier:

AP= 300 M”72, VPRIiM= 1000 M"3, FRACV= 0.79,
FRACB= 0.75, CXTPU= 1.0, XVPU= 0.3, XNVPU=
0.7, FUNDER, CXTPU, CXVPU, CXNVPU, VWEIRP,
HPS, SPI(J), SSi{(J), SNH4{J), RR, SPFEED.

Activated Sludge Tank:

VA= 5000 M"3, KOES=0.79, RT=5.0, Um=0.1042
, Kd=0.,0021, fsw=0.45, fs=0.2, ks=0.086,
RXAm=0.3, Y1=0.66, Kfs=0.2, Y2=0.25, RXI=
0.015, YNS=0.05, KSNS=0.001, UNSM=0.022,
KN=0.7277E-3, YNB=0.02, UNBM=0.04, KSNB=
G6.001, KDNS=0.005, KDNB=0.005, KLA=0.,617,
KH=0.044, X8=0.8, DOI, XA, XI, XS, XT, FR,
OVER, FP, DOX, XNS, XNB, SNO2, SNO3, RUCH ,
RDON, RDO, RDOT, XNH4, RSNH4, RHNH4, RXI,
RXS, RS, DOA(XKX).

Recycle Line:
SNOZR, SNO3R, XSR, XAR, X1R, SR, XNH4R,
RDOT, FR, FRavg, GAIN, SCOURP, SCOUR.

Secondary Clarifier:

Area= 2500 M~2, dz= 0.2M, J=20, Q, CO, U,
ui, Ct{(J), GiJ), CtJd), M{(J), Vv(CC), XE,
TSSOUT

Results

Fr= 0.4 - 0.53 for the case of BOD5 pulse.
Fr= 0.1 - 0.3 for the case of flow rate
pulse.

DO converges to 10 ppm.

BODS converges to (or less) 50 ppm.
Recycle Sludge Conc. =10000 - 15000 pom.
TSS converges to (or less) 10 ppm.
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Rl % EHMHESBER

$DEBUG
FROGRAM WASTEWATER
REAL KS8NS, kKN, KSNE, KDNS, KDNB, KLA, KH, KOES, K8, KF 8, KD
REAL SP(6),85(6),8NH4(6),8F1(6),851(6),5NH41(6)
REAL £(20),M(20),G(20),CI(20),D0A(4),SETFOINT(6), RELEASE(E)
INTEGER TN
ThR=0.
DT=0.1
I=0
dz=0.2
ul=0,1
tot=0.
C F=1000 { FEED FLOW RATE (M™3/Hour) 3
C AFP=300 { PRIMARY CLARIFIER CROSSING AREA (M™2) 3

o0 oo 0O

S0

[y]

~a

FRACV=0.79
FRACTION OF INFLUENT TSS WHICH IS VOLATILE SOLID CONC. 3

FRACB=0.75
FRACTION OF INFLUENT TSS WHICH IS BIODEGRADAEBLE 3
KOES=0.793
VFRIM=1000 { FPRIMARY CLARIFIER VOLUME (M"3) 3}
SNH4IN=0.1 { INFLUENT SNH4 CONCENTRATION (THOUSAND FFM) 3
SINN=0.3 { INFLUENT SOLUBE SUBSTRATE CONCENTRATION (THOUSAND PPM) 3
SSIN=0.2 { INFLUENT SUSFENDED SOLID CONCENTRATION (THOUSAND FPMY 3
FUNDER=0.
FRIMARY CLARIFIER UNDERFLOW RATE (M“3/Hour) 3
CXTPU=1 { PRIMARY CLARIFIER UNDERFLOW TOTAL SOLIDS CONC. 3
XVPU=0.3
XNVFU=0,7

CXVPU=40.0 { FRIMARY CLARIFIER VOLATILE SOLIDS CONC. 3
CXNVFU=50.0 { PRIMARY CLARIFIER UNDERFLOW NONVOLATILE SOLID CONC. 3

FP=500 { FINAL FRIMARY CLARIFIER OUTPUT (M"3/Hour) 3
VWEIRF=0,

INITIAL WEIR VOLUME >
8NO2=0.001

SNO3=0. 001
8NO2R=0.,001
RECYCLE SNOZ
SNO3R=0,001
RECYCLE SNO3
RT=5.
Um=0.1042
kd=0.0021
fem=0.45
fa=0,2
ke=0.06
RXAM=0.3
Y1=0.66
Kfs=0,2
Ya=0.,29
RXI=0.015
YNS=0. 05
KENS=0.,001
UNSM=0, 022
KN=Q,7277e~3
YNE=0. 02
UNBM=0, O3
KSNB=0, 001
KDNS=0. 005
EDNE=0. 00%
KLA=0,917
EH=0. 044
X5=0,8
xsr=0.8
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C{ RECYCLE STORE MASS CONC. >
XA=0.6
war=0.6
C{ RECYCLE ACTIVEED MASS CONC. X
XI=0,2
XIR=0,2
Z{ RECYCLE INERT MASS CONC, 2
SE=0.05
XNS=0.1
XNE=0, 08
XNH4=0, 003
C { INITIAL NH4 CONC. >
XNH4R=0, 003
XNH40=0, 003
DOX=0.005
P=1 { PRESSURE >
VA=5000
DOR=0. 005
RDOT=0,001
DOI=0.005
8§=0,05 { INITIAL BOD CONC. 2

(e e

[

¥ 3K I KKK WK

* main program *
LT I I T AT

OFEN(1,FILE='WASTEL.DAT’)
OPEN(Z,FILE="WASTES1.PRN’ ,status="'new’)
OFEN(4, FILE=' WASTESZ. FRN? , status='new’ )
READ(1,*)F, AF, VFRIM, SNH4IN, SINN, SSIN, 2XTPU, CXVFU, CXNVPU, FP, P, VA
READ (1, )5, SCOURP
WRITE(%,*)?GEAIN= ,FRavg= ,FLOW PULSE= !
c GAIN=200,FRavg=0. 15, FLOW FULSE=10
READ (%, *)gain, FRavg, FPULSE
DO 8 J=1 , 20

8 CICT)=9.
DO 10 k=1 , 20
10 MK) =3

* ZND CLARIFY DATA
DO 20 J=1 , &

* SET INITIAL EACH ARRAY=0

* PRIMARY CLARIFIER SOLUBE EFFLUENT CONG.
SPICII=0.1
* TGS

* TSS
SSI(J)=0,05

* SNH4

20 SNH4I (J) =0, 025

VPRIMS=VPRIM/S.

WRITE (%, 30)VPRIM, AF

WRITE (%, 40)SINN, SSIN, SNH4IN

WRITE(%,%)? ’
30 FORMATC1X, ' VFRIM=’ ,F&.1,’ AREA=',F5,1)
40 FORMAT (1X,?SIN=' ,F5.3" SSIN=',F5.3,’ SNH4IN=’,F5.3)

* ACTIVE SLUDGE TANK DATA

Fe I I H I I W I I e NI I I I I KKK

* 18T CLARIFY MAIN PROGRAM *
AR e R R Y

* REMOVAL OF SUSFENDED SOLIDS
OVEL=5./3.
50 I=1+1

RR=(7.01275/100. ¥EXF (4. *ALOG (OVEL) ) —1. 29485%EXF (3. *ALOG (OVEL) )+
+ 6. 0471 %EXP (2, #ALOG (OVELD ) ~12, 961 %*0VEL+84.904'3) /100,
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* FIRST

60
+
#* FIFTH

70

SPFEED=SINN*KDES
XNVFU=XNVFU+ (F%*SSIN* (1. ~FRACV ) #RR~FUNDER*CXNVFU) *DT
XVFU=XVPU+ (F #5S IN*FRACV*RR-FUNDER*CXVFU) DT
CXNVPU=XNVPU*CXTFU/ (XNVPU+XVFU)
CXVPU=CXTRU-CXNVPU
HFS= (XNVFU+XVFU) / (AF*CXTPU)Y
SS0UT=8SIN* (1. -RR)
IF (HPFS .5T. 1.) THEN

FUNDER=100.

ELSE

IF (HFS .LT. 0.5) FUNDER=Q.

ENDIF

FOUR TANKS IN SERIES

SF(1)=8FFEED

88(1)=880UT

SNH4 (1) =5NH4IN

DO 60 J=2 , §
SF(JI=SFI(J)+(8PI(J~1)-8FI(J))*(F~FUNDER)*DT/VPRIMS
S8 (JI=881 (J)+ (881 (J~1)1~88I(J) ) *(F-FUNDER)#DT/VPRIMS
SNH4 (J)=8NH4I (J)+ (SNH4I (J~1)~SNH41 (J) ) % (F—FUNDER) *DT

/VPRIMS

TANK

VWEIR=VWEIRF+ (F~FF~FUNDEFR ) *DT

HWEIR=VWEIR/AF

QOVEL=FF/AF

DV=(VWEIR-VWEIRF) /DT

SFP(6)=8FI(&)+( (F-FUNDER)*SFI (5)~FF*8FI(6)-8FI1(6)*DV)*DT/ (VPRIMS+

VWEIR)

S8(6)=881 (&) +( (F~FUNDER)*S8I (5)~FF*8S1 (6)-8SI (6)*DV) *DT/ (VFRIMS+

VUWEIR)

SNH4 (6 =5NH4 1 (6) + ( (F-FUNDER) *SNH4 I (5) ~FP*SNH41 (6) ~SNH41 (6) *DV)
*DT/ (VPRIMS+VWELR)

VWEIRF=VWEIF

SNH40=8NH4 (&)

S0=8PF (€) +KOES*SS (6) *FRALV

X10=(1-FRACE)*885 (6) *FRACV

XNVO=8585(6) * (1-FRACV)

FP=0.81%3600. *EXP (2, S*ALOG(HWEIR) )

DO 70 J=1 , &
SPICJ)I=8F(J)
85I¢(J)=88CJ)
SNH4 1 (J)=8NH4 (J)

* END 18T CLARIFY

F 3 KKK KN NN KKK )
* ACTIVE SLUDGE TANK MAIN PROGRAM *)
LR R R Ly Ty T T T XX )

XT=XA+XI+XS
F8=X8/XT
OVER=FP
FR=FRavg*0VER

R TS ST I T LT T T LT

* substrate...... *
LR R

DO 120 K=1 , 4
RS= (UM* (5/ (K5+8) ) ~KD) *XS

F KKK KKK
* storage MABS. . *
LRI T T T E T T

RXS=RT* (FSM* (S/ (KS+8) )~FS) *XT-RXA1/Y1

IF (K .EQ. 1) THEN
X8=X8+ (4. * (FR¥XSR~ (OVER+FR) *#X5) /VA+RXS) *DT
S=5+ (4. * (QVER*SO+FR*SR~ (OVER+FR) #8) /VA-RS) *DT
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ELSE
XS=XE+RXS%DT/ (1. +4.%*DT* (OVER+FR) /VA)
8=8-RE*DT/ (1. +4, ¥ (OVER+FR) *DT/VA)>
ENDIF

L Y s
* inert mass.... *
KRR KKK I I I
RXI1=YZ*RXI*XA
IF (K .E@. 1) XI=XI+(4.%(OVER*XIO+FR*XIR—-(OVER+FR)*XI)/VA+RXI1)
+ *DT
XI=XI+ RXI1%#DT/(1.+4.%DT*(OVER+FE)/VA)

T X
* active masS.... *
P 2ITZIIT T TR T
RXAL=RXAM* (FS/ (KFS+FS) ) *XA
RXA=RXA1-RXI*XA
IF (K .ER@. 1) THEN
XA=XA+ (4, # (FR¥XAR- (OVER+FR) *#XA) /VA+RXA) *DT
ELSE '
XA=XA+REXA*¥DT/ (1. +4, ¥DT* (OVER+FR) /VA)
ENDIF
* NITROGENOUS ....

L X )
* ammonium ..., *
I WK I I I I I I I I

RENH4=UNSM#*XNS/YNS
FHNH4=KN*FEXA% ( X5/ (KS+XS) ) $XA-KN* (1. -YZ2) *RXI*XA
IF (K .E@. 1) THEN

XNH4=XNH4+ (4% (OVER#* XNH40+F % XNH4R—~ (OVER+FR) #XNH4) / VA~

+ RESNH4—-RHNH4) *DT

EL.SE

XNH4=XNH4— (RENH4+RHNH4 > *DT/ (1. +4. #*DT* (ODVER+FR) /VA)
ENDIF

T I I I I3 I 262 I K
* nitite % nitrate *
T )
FENOZ= (UNSM*XNS/YNS) ~ (UNEBM*XNR/YNE)
RENO3= (UNEM*XNE» / YNE
*FIRST C8TR DOX CONTROLLER
DO 1 KK=1 , 4
1 DOA (Kk ) =0
IF (K .EG. 1) THEN
IF (DOX LT.0.009 ) DDAC1)Y=0.92
SNOZ=8SNO2+ (4. * (FR*SNO2R- (OVER+FR) *SNO2) /VA+RSNOZ) *DT
SNO3=8N0O3+ (4. ¥ (FR*SNO3R- (OVER+FR) *6NDO3) /VA+RSNO3) #*DT
DOX=DOX+ (4. * C(OVER*DOI+FR*DOR+ (OVER+FF) * (DOA (1) ~-DOX) ) /VA+
+ REDOT)*DT
* OXYGEN ....
ENDIF

IF (K .EQ. 2) THEN
*SECOND CSTR DOX CONTROLLER
IF (DOX .LT.0.008 )» DOACK)I=0.32
ENDIF

IF (K .EG. 3> THEN
*THIRD CSTR DOX CONTROLLER
IF (DOX .LT. 0.008) DDA(K)I=0.9Z
ENDIF

IF (K .EG. %) THEN
*FOURTH CSTR DOX CONTROLLER
IF (DOX .LT. 0.007) DDACK)I=0.92
ENDIF
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SNOZ=8NOZ+RSNOZ*DT/ (1. +4.*DT* (OVER+FR) /VA)

SNO3=8NO3+RENO3*DT/ (1. +4. *DT* (OVER+FR) /VA)

RDOH=(~(1.-Y1) /Y1 #RXA®XA¥F S/ (EFS+F8)~(1-YZ) *RXI*XA)

RDON=(~3. 4*RSNH4~1, 1 *RENO3)

EDO=KLA% (0. 008-DOX)

RDOT=RDOH+RDON+RDO

DOX=DOX+4. *DOA (K) * (OVER+FRE) *DT/ (VA+4% (DVER+FR) *DT) +

+ RDOT*DT/ (1+4%DT* (OVER+FR) /VA)

IF(DOX.LT.0)DOX=0.

DOR=DOX

REXNS=(UNSM—KDNS) ¥ XNS

RXNB= (UNBM-KDNE) *XNE

IF (K .EQ. 1) THEN
XNS=XNE+ (4% (FR¥XNSR— (OVER+FFR) #*XNS) /VA+RXNS ) *DT
XNE=XNB+ (4% (FR*XNER— (OVER+FR) *XNE) /VA+RXNB) #DT
ELSE
XNS=XNS+RXNS*DT/ (1+4%DT* COVER+FR) /VA)
XNE=XNB+RXNE*DT/ (1+4%DT* (OVER+FR) /VA)
ENDIF

*END ACTIVE SLUGE TANK

120 CONTINUE

EE 22 2 I T T I I
* ZND CLARIFY MAIN FROGRAM *
Ly I T T T Y
A=0VER
SCOUR=C(1-Y1)/Y1)% (UM% (57 (KS+5) ) )+ (EDES/Y1) %KD
FR=FRavg#*@* ( (SCOUR-SCOURF ) *EAIN+1.)
TESE=XA+X8+X1
CO=TES
L e T
* 2nd clarify mass balance %
L2 2 T e
U=UL1+FR/2500.
FO=(G+FR) ~U*2500,
DO 80 J=1 , 20

CC=9.
80 GO =CI (T VD2 /1000, 0
IF (GCl) JGET. GO2)) THEN
Gl=GC2)
ELSE
Gl=GC1)
ENDIF

CCLy=(DT/DZ) % (Q+FR) *C0/ 250001 (1) %#U-G10+CI (1)
DO 390 J=2 , 19
IF (GCJ) .GT. GCI+10) THEN
MCJ)=15(J+1)

ELSE
MCT)=GCT)
ENDIF
20 CI=(DT/DZ)* (CICT-1) %¥U+M(T=1)0-CT (TI *¥U-M(II 2 +CI (T

CCZO)=(DT/DZ) % (UXCT (199 +MC19) —UT (20D )+ (20D

WRITE (%, 200)1,D0X,S, (200, TSS,FR
200 FORMAT(1X,?I= *,13,1X,'DOX= ',E9.3,1X,'6=’,£9.3

+ y1X,'C(20Y=? ,EF.3,1X, ' TSS=" ,ET.3, 1X, 'FR=' ,E3.3)
DO 100 K=1 , 2
DO 100 J=1+(K-1)%10 , 10+(K-1)%10
XE=4,5+8. 6%TSS/2500

100 TSSOUT=XE/ 1000



110

IF (T88 .GT. 0) THEN
FX8=X8/TSS
FXA=XA/TSS
FXI=XI/T88
ENDIF

XSR=PXS*(20)

XAR=FXA*C (20)

XIR=PXI*Z(20)

TOT=TOT+ (U*2FOO0*C (200 ) *DT

DO 110 J=1 , 20

CICTI=CCT)

* END 2ND CLARIFY

178
179

THR=THR+DT

IF(THR.GE.7.1) S=85+SPULSE
IF(THR.GE.9.1) S=5-SFULSE
IF(THR.GE.7.1) F=F+FFULSE
IF(THR.GE.9.1) F=F~-FFULSE

WRITE(4,178) THR, S, 5(20) , TSS

WRITE(Z,179) THR, FR, DOX

TEVBRREIE 5421 (4.1992)

format(lx,fB.E,lEx,elO.S,le,f9.4,12x,e10.5)

format (1x, f8.3,15x, 9.4, 15x,e10.5)

IF (THR .LE. 24) EOTO S0

WRITE (%, %)?THE TOTAL WASTE AMOUNT FOR 24 HOURS: '’

WRITE(%,%)'TOT = ' TOT,’
END

LR R S L R LY T T R R RV TRy

* 2nd clarify settlcity eq’n

Lk X 2L LT T T R R R vy

FUNCTION V(iZ1)
C1=(C1/1420. %1000,

*

Kii PER-DAY ?

V=SDRT(231.37/(0.5217539—7+0.8347935—2*E1—0.103521/10.*01**2+

0.419438/100. %51 %%3))
RETURN
END



